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But rather, - S39PoM R 773972 Ko7 9N
here they are in a dispute concerning s'7739 reasoning.

OVERVIEW

The &3 is discussing the ruling of >"ax that Y%y N1yy 5y ¥yaw1 DIRY D°nyd.
It is not clear what is meant by 12Xy niv. It cannot mean actually MXy NIvY
without a ¥21n, for then he would be Mo from a 7Y1AW since he is a 2°W»
7728, Originally 27 answered that Xy nivow refers to jup 1MW, The XM
argued that by jop v there is no 712w 21°1. The X713 answered that when
27 said Jup 1230 he meant a 7173 who 1°287 °2°»2 is considered a jup. The X3
challenged this interpretation as well; if it is 973 1w then why is it
considered a ¥y nwv; there is a ¥2n. At this point the X3 answered ROR
»29°mp 12772, It is not yet clear, however, what is meant by 12y niwvv. Is it a
2173 NIY; or is it a Jwp niwwv? This is the nPY?nn between *"wa and Moo, as
our Md0IN will explain.

The mwn in 'My1w Non states U9 PYawI Yar 21 U W' NIVY HY PYIwI PX.
11 resolves® the apparent contradiction in the mwn; that Jop» Pyaws refers to
a P who is a8 nivva Xa. Here too there is the same npY?nn between "'wA
and MBoIN, what is the meaning of 172X N1yv2 X2.

- 10D MYV Y PYAYI PN XA 79 NOWD RDTY 10D NV B9YY *0909Pa Y
>'"'w9 explained: indeed the claimant was a minor; and that which you
had difficulty with, namely that if the claimant is a minor how can there be
an oath; for there is no requirement to take an oath against a minor’s

claim;” the answer to that difficulty is —
- NYT NAIUN MYV PAX NPV NI YAN 1YY NIYVA NA2 S99 1)1

This rule that Jop nwv v Pyawi PR applies (only) when the Jvp is coming
with his own claim; however when the v is coming with his father’s

claim, then it is considered a respectable claim and a 712w is required’ in order
to rebut it. It is nevertheless considered 11Xy Nwv, since the ¥21n is (merely) a jop.

mooIn anticipates a possible difficulty with this interpretation. Once we assume that we
are discussing a 12X Nyv1a X277 j0p, why does the X773 continue? It seems we understand

! (mwnn moa) 2,mb.

2 x,2n ow.

?XOR 772,

* See (end of) 2,m5 Myaw mwn.

3 »"1 understands s'21 explanation (see ‘Overview’) that if the J0p is 12X N1wva X2 then the 1P is 217 a W,
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"aR7. MdoIN explains (according to °"wN) that it is necessary for the X3 to continue;
otherwise a question remains:
= 12299 1122990 YNNI NN )
And if you will ask; what is the reason of the 3129 who maintain that he is not
required to swear —
= NUNN N3 5D PAN MYV NI2 GNT 29207 9199 X920 PNT
For it is not logical to assume that the 7127 maintain that (even) when the
7oP comes with his father’s claim, his claim is worthless. It is assumed that
the 7127 also agree that 12X N1YvA X277 VP is considered a 721wn 71w, and should require a
v if necessaury.6 Why do the o°n5m argue and maintain that a 7¥12w is not required?
Therefore the X713 concludes (according to *"w") —
= 9Y9p N2942 NOHN
But rather the 7127 and °"2X7 disagree in the ramification of s'ma%
explanation.’ This concludes n9o1n citation and interpretation of s""2A explanation.
The apparent difficulty with s""w" explanation is that the X723 originally refuted the idea
that Yy N is referring to WP NIwv and maintained that ¥y NIWY is 7173 W2 (which
was subsequently challenged). If the X713 intends to restore the original interpretation of
MEY v, the X1 should have said '1vp 1YvT 22w XOX'; and go on to explain that since
he is 128 naywva X2, therefore it is a 721wn 71vw. However the X113 makes no mention of it.
mooin will now explain why °"w9, nevertheless, interpreted the X3n3 in this manner,
despite the apparent difficulty with this explanation.
= Y0P 1PV TINYNT IPNHT KLY MYV DD S9PT DIYNT IRIN
And it appears that >"v1 was forced to interpret the np171 between "R
and the 7127 by a Jup 1YW since the XN»72 refers to it as a MY NIYY. A nwo
MXY cannot mean an actual Xy N1vv for then he is a 77°aX 2°wn. It cannot refer to a 133
2173, since that is not 1Yy n1wv. The only option left open is Jup 1YW in a case where he is
IR NIWLI K2,

mooIn, however, rejects s™"w interpretation:
= 9901 19 90N 11NN 9PIYT NYP YaN

However it is difficult to accept this interpretation; for the essence of the
answer (that it is a case of Jup 1Y, and since he 1s 128 NIYVA X2 itis a 7Y

72wn) is lacking in the text. The X3 makes no mention of these ideas which >"2"
is inserting into the y17°N.

mooin asks an additional question (which challenges s"™"w assertion that a 7w who is X2

® See “Thinking it over’ # 1.
" The 71129 maintain that even though 12X niwywva X232 Jup NIWL ¥ PYaws, generally (2w NY1AW); however
here (by a n¥pna 771) the M7 is a 77°28 2°wn; for he has a 1wn of H373 7913, since Yn 122
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2R NIYY2 can be 2»nn a 7Y1AY):
- 517 RINW 1AM JOP RINTYI 13N 135099 (ov1 2,17 91 xnp xa2) AP SNAT )

And furthermore in X% ®137 20 there is a Xn»12 which excludes the
requirement for 2w 712V in a case where the object was given to the
T when the owner was a minor, and the owner demanded it back when

the owner was an adult.® In this situation the = is not liable to take the oath of the

oW (if he claims 701X, etc.) -
= MY1X2 1Y NN NYIAN NANY 1Y

Unless the claim and the giving are equal that it was done by adults. This

concludes the citation from the X773 in P"2. NHOIN continues —
=107 NITYWI 1WA DY) NINWI 19N LYNN RIP INNINT P71 XYM

And the same ruling applies; that from this same 02 we exclude the
1w from a 71w in a case where the owner gave it to the 7212 when the

owner was a 173 and claimed it when the owner was a Jup.” mooin will now

explain what is meant by Jup XWwD 1W2M 2173 RIAW 1IN —
= PNVPIIYAN PIAN T JMIY D 1NT

This is for instance in a case where the father gave the object to the 2w

(7173 X17wo 1n2) and the claim was made by the son who is a Jop ( x> wam
1oP). In this case the same ©W°» should apply; there is no 7312w 211 since there is no 7173,
both by the 71°n1 and the 7v°2an. This repudiates s"wA position that if he is a ni1wyva X7 WP
12X a 712w is required. From the X773 in "2 it seems that even in this case, a 712 is not
required.'’

mooIn offers his interpretation:
= 99991 DY ODIYD NYIVID 51T NI

And it appears to N901n that this is the explanation of the X n3. Indeed we

are discussing a case where the ¥21n is a ®173; as we were discussing until now —
- NYP 8Y NNTINT DIVN INKY NPV 1YY 9997 NN KY NN

However, you should not assume that it is called ‘his own claim’,

because it is based on his own admission; that is not so, as the X3 previously
stated. Every 7312w 21 of n¥pna A7n is based on 1y XTI
= N 1KY MYV YN 19237 19299 090D NAYTA NON

But rather the reason it is considered mX¥ Ny even though there is a claim
(from an adult) against him, is because 31271 >"2X" are arguing about 73",

8 The xn™M1 there derives it from the two 2°100 of WK 10° %3 (in 1,22 [D*wown] mnw), which excludes a jup,
and 071w 127 X2 (there 1 2109) which indicates (as >"w1 explains there) that the giving and claiming are
compared that in both instances the owner must be a w"»y ,7173.

® The same wp 1 (mentioned in the previous footnote # 8) which requires that the 7°n1 (and 71¥°2n) be as a
2173 (seemingly) requires that both the 712°n3 and the 7v°2an be as a 2173, (See 7w 0"17n.)

' nooin will explain shortly his interpretation of s'a7 answer (in N1¥12w) that a8 NWvA X122 he is M a 72w,

3

TosfosInEnglish.com



XOX 71"7 '0I0 X, M12N3 .7"'02

Therefore according to the 1129 who maintain that when the son is making
the claim, then the defendant is brazen enough to entirely deny the claim;
that 1s why it is considered a %Y niww. The claim of the son is very weak since
the M7 can (easily) deny it and would be 5. The fact that the Mm% admits (partially) to
the claim of the son, renders it a ¥y nwwv. The 71w of the son has no strength without
the admission of the m?>.
mooIn anticipates a difficulty. The reason it is considered a (131217) %Y v is because
the 71127 maintain that ¥ 1122. However according to >"2X" that (even) 1°¥» 11X 1122, it is
not considered a Mxy niyv. Why then does >"aX7 state in the Xn»72 that Yaw1 QIRY 20V
M¥Y NIww Hv, when according to °"aRA it is not a MY NIy ?! MoLIN responds:

- YY) DIRY DY APY 12 TTYIN 229 NP 297
And this is what >''2R89 stated; that occasionally a person will swear —

- NY MYV DUNN DANY NI HY
on a case which you (the 7127) consider a Y3¥ nIYw (since you maintain that
YN 1122) —

= NN DYINN NPV YN 1INRT 219D YaN
However according to me that a person is not y» (even) by a son, this

type of claim is considered a claim made by others and not a Wy nwv;
therefore I maintain that in such a case he is obligated to swear."!

Mmoo anticipates a difficulty and forewarns it.
= 1OPY P2V DAN 1INT (0w x,an mynaw) 1239TN NAY )02

And in the end of 1519777 nyaw 275 where the mwn stated, ‘however there

is a requirement to swear against a claim of a Jup’ —

= N> APY? 12 9TYHN 29 AN NPV N2 YI9)
And 27 explains the 71wn that it is a case where the Jop is 3R niywa X2 and
that 7awn follows the view of 3''aR". This concludes the citation from mMy12w nIoMH.
It would seem from that X713 that >"aX" is discussing a case of a Jvp (as *"w" interprets it)
and he is 2°°n»n a AW if he is 12X nwwva X2, This contradicts what N1901N maintains that
»"aR" is discussing the case of a 2173; however by a 1vp even if he is 1ax nwwva X3, he is
not 2>°1n a 712w (as the XA in p"2 indicates).

mooIn explains:
= NYD JOP MIANRT Y790 2277 ©IVN JOP NOY 2P D11 RIN NPT IND 93 U NI

The jvp of that m1wn is also not specifically a regular jop, but rather a 9173,

t According to "1 both *"2X7 and the 7127 agree that J9p 11310 is considered ¥y niyw. The X713 cites 71277
in order to explain that the 0°»on disagree with >"ax", since the m> has a 1. However according to nooin
the argument between 131271 °"ax" is whether this case (of 9173 112) is considered a ¥y nivv; depending if
Y7 1122 or not. The purpose of citing 72773 is to explain why it is a M¥Y N1yY (according to the o°nam). All
would seemingly agree, however, that %Xy n1yva there is no A¥y12W 217.
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The 7wn refers to him as a Jvp because concerning the affairs of his
father he is considered a Jup —

= NI V99199
As the X713 explained here previously when we stated that %y nIvv is not Jop 121031
but rather 2173 1302,

mooIn points to a difficulty with his interpretation:
= 29 DY AYPNY 115 ONNT PHINNDN VYD NMNYPNRD 7YY MINT NP NYP)

And there is a slight difficulty, for the X723 should have asked on that
mw» and answered in the same manner as it asked on 29 ([t]here). The mwn
there stated JupP% PYawl 9ax8. The X7mx asks that the mwn stated previously v Pyaw: Px
TOP1 W' N, 27 answered that X°77 °"2RM 1°aX n1vwa X232, The simple explanation of 27 is
that 12X nivva X232 we are Yawil on a jup NWY (according to °"2aX7) [as *"WI maintains].
However according to m»oin who argues and maintains that we are never Ny %y yaw:
TP, we are forced to interpret what 27 said 2R Niwvva X22 means a N73. The question
arises, that the mawn stated JoP? 7"¥awi, not AR NIV X217 91739, The X n3 there should
have asked this question on the mwn; and answered that the 73wn really meant a 2173,
however, X171 0P 1IRT 2 22357 1P 2 *P *’AK).'Z When 27 interpreted *"287 to mean a
TP the Xna challenged his statement until we answered that when 27 said 79 he meant
2173 for X177 JOP 1°2RT °2°n2 7173, Why was not the same discussion centered on the mawn?!
One cannot answer that the X723 there does ask the question and gives the answer -

$a9 DY NON NIYNN DY NYUPN XY NN RNYNY NXNNAY
For in that X923 itself it does not ask the question on the mw» (how can
the mwn state P2 Pyawi); but rather the question was addressed (only) to

29. The &3 there only challenged s'27 interpretation of >"aX7; but not the interpretation
of the mwn."? The question remains why did not the 873 ask directly on the m1wn?!

SUMMARY

>"w1 maintains that a Yax N2 K37 0P is 270 a AYI2W. Moo disagrees.
*"w1 therefore maintains that XY NIvvY 1s a 2R NIYv2 X277 WP and it is
considered XY nivv since he is a VP, while M50IN maintains that 2%y NIWY
is a 1ax nIwwva 8277 7173 and it is considered a (131277) M¥Y NIV since °¥M 1122

THINKING IT OVER

12 See 7121 170X (see, however, 2" mn).

" It may be possible that it is only a 7wp n¥p, since it is 27 who interprets the ¥ax N2 X223 mwn. It is also
11 who interprets *"2aX7. The X3 may have regarded it as a duplicity to repeat the questions twice; once on
§'27 interpretation of the 71wn and again on his interpretation of >"aX7. Once we asked and explained s
interpretation of >"2aX" it is self understood that it applies to the 71wn as well.
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I. moon says that Mxwnn 72 N°% AN NIvva K22 AXT 9207 1% X120 XS
seemingly NN could have said that if the 13127 maintain that n°% jop nIvw
Xwwn 72, then why do they say that he is not required to swear for he is a
7708 2°wn, they could have simply said Jup NIy Y Pyaw: Pr?!

2. What are the relative advantages (and disadvantages) of s""w7 and n»oIN
interpretations?

4 See footnote #6.
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